


          

B.Com. DEGREE EXAMINATION – 
  JANUARY 2009.

Second Year
(AY 2003–04 and CY 2004 batches only)
Commerce
CORPORATE ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks questions should not exceed 
two pages.

Answer for 15 marks questions should not exceed 
five pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. Define Share. Mention its kinds.

£[SPÎß ÁøµÂ»UPn® u¸P. Auß ÁøPPÒ ¯õøÁ?
2. What is meant by underwriting? State its purpose.

£[SUPõÚ EÖv¯ÎzuÀ GßÓõÀ GßÚ? Auß £¯øÚ ÂÁ›.
3. What are capital profits and revenue profits? Give example.

‰»uÚ C»õ£® ©ØÖ® Á¸Áõ´ C»õ£[PÒ GßÓõÀ GßÚ? GkzxUPõmkPÐhß ÂÁ›.
4. X Ltd. issued 20,000 shares of Rs. 50 each at a discount of Rs. 2 per share payable as follows. On application Rs. 10 per share, on allotment Rs. 15 per share and on first call and final call – Rs. 23 per share.

Applications were received for 18,000 shares. The calls were made and all money due were fully received. Show the necessary journal entries in the books of the company.

X {Ö©® ¹. 50 •P©v¨¦ÒÍ 20,000 £[SPøÍ  
¹. 2 uÒÐ£i°À  öÁÎ°mhx. £[SPÒ  ¤ßÁ¸©õÖ  ö\¾zu¨£mkÒÍx. Âsn¨£zxhß ¹. 10 
(£[S JßÔØS) JxURmiß ÷£õx ¹. 15 (£[S  JßÔØS) ©ØÖ® •uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx ¹. 23 
(£[S  JßÔØS). 18,000 £[SPÐUS Âsn¨£® ö£Ó¨£mhx. AøÇ¨¦PÒ ÂkUP¨£mk AÁØÔØPõÚ öuõøP •ÊÁx©õP ö£Ó¨£mhx.  {Ö©zvß Hmiß •uÀ SÔ¨÷£mk £vÂøÚ GÊxP.

5. The Ashok Co. Ltd. went into voluntary liquidation on 31.12.2005 when the state of affairs was as below :

Unsecured creditors stood at Rs. 40,000 including Rs. 5,000 preferential claims. Secured creditor secured on plant and machinery stood at Rs. 20,000. Cash in hand was Rs. 1,000. The liquidator realised plant and machinery for Rs. 15,000 and other assets realised 
Rs. 10,000. The liquidation expenses amounted for 
Rs. 1,000 and the liquidation’s remuneration was fixed at 4% of the amounts realised including cash balance and 2% of the amount distributed for unsecured creditors including preferential creditors. Prepare liquidator’s final statement of a/c showing the amount paid to unsecured creditors.

31, i\®£º, 2005–B® Bsk ußÛaø\¯õPU Pø»¨£õÚ÷£õx  A÷\õU P®ö£Û ¼ªöhm  {Ö©zvß {ø» ¤ßÁ¸©õÖ :

¤øn¯ØÓ PhßuõµºPÒ  ¹. 40,000 (¹. 5,000 •ßÝ›ø©²® ÷\ºzx) ¤øn¯U PhßuõµºPÒ  (ö£õÔ C¯¢vµzvß «x) ¹. 20,000, øP°¸¨¦ öµõUP® ¹. 1,000. Pø»¨£õÍº ö£õÔ C¯¢vµzøu ¹. 15,000–US®, ©ØÓ ö\õzxUPøÍ ¹. 10,000–US® öµõUP©õUQÚõº. Pø»¨¦a ö\»ÄPÒ ¹. 1,000. Pø»¨£õÍ¸US Fv¯® 4% öµõUP©õUP¨£mhvÀ (öµõUP C¸¨¦® ÷\º¢x) ©ØÖ® 2% ¤øn¯ØÓ PhßuõµºPÐUS (•ßÝ›ø© ÷\ºzx) ¤›zx öPõkzu öuõøP°¾® öPõk¨£öuÚ {a\°UP¨£mhx.  Pø»¨£õÍ›ß CÖvU PnUPÔUøPø¯ u¯õº ö\´¯Ä®. ÷©¾® ¤øn¯ØÓ PhßuõµºPÐøh¯ öPõkUP¨£k® CÖv öuõøP GÆÁÍÄ?

SECTION B — (4 ( 15 = 60 marks)

 Answer any FOUR questions.

6. Explain the different methods of redemption of debentures.

Phß £zvµ[PøÍ «mS® £À÷ÁÖ ÁøPPøÍ ÂÍUSP.

7. Define goodwill. What are the different methods of calculation of goodwill?

|Øö£¯º ÁøµÂ»UPn® u¸P. |Øö£¯º PnUQk® £» ÁøP¯õÚ  •øÓPøÍ ÂÍUPÄ®.
8. Roshan Company Ltd. was incorporated on 30th June 2000 to take over the business of Rajan as from 1st January 2000. The financial accounts of the business for the year ended 31st December 2000 disclosed the following information

	
	Rs.
	Rs.

	Sales :
	
	

	   January to June
	1,20,000
	

	   July to December 
	1,80,000
	3,00,000

	Less :
	
	

	   Purchases :
	
	

	   January to June 
	75,000
	

	   July to December 
	1,20,000
	1,95,000

	   Gross profits 
	
	1,05,000

	Less :
	
	

	   Salaries 
	15,000
	

	   Selling expenses 
	3,000
	

	   Depreciation 
	1,500
	

	   Director’s remuneration
	750
	

	   Debentures interest 
	90
	

	   Administration expenses 
	4,500
	24,840

	   Profit for the year
	
	80,160


Ascertain pre and post incorporation profit.

÷µõåß P®ö£Û  µõáß Gß£Á›h®  Â¯õ£õµzøu Áõ[Q 30.06.2000 AßÖ £vÄ ö\´ux. Â¯õ£õµ®  Áõ[Q¯ ÷uv 01.01.2000. 31.12.2000 •i¯  PnUSPÒ  •iUP¨£mh ÂÁµ[PÒ öPõkUP¨£mkÒÍÚ.

	
	¹.
	¹.

	ÂØ£øÚ :
	
	

	   áÚÁ› •uÀ  áüß Áøµ
	1,20,000
	

	   áüø» •uÀ i\®£º Áøµ 
	1,80,000
	3,00,000

	PÈUP  :
	
	

	   öPõÒ•uÀ :
	
	

	   áÚÁ› •uÀ áüß Áøµ
	75,000
	

	   áüø» •uÀ i\®£º Áøµ 
	1,20,000
	1,95,000

	   ö©õzu C»õ£®
	
	1,05,000

	PÈUP :
	
	

	   \®£Í®
	15,000
	

	   ÂØ£øÚ ö\»ÄPÒ 
	3,000
	

	   ÷u´©õÚ® 
	1,500
	

	   C¯USÚº \®£Í®
	750
	

	   Phß £zvµ Ámi 
	90
	

	   {ºÁõPa ö\»ÄPÒ
	4,500
	24,840

	   {Pµ C»õ£®
	
	80,160


£vÄUS •ß ©ØÖ® ¤ß EÒÍ C»õ£zøuU PõsP.

9. The following is the trial balance of Banu and 
Co. Ltd. as on 31.03.2000 with the authorised capital of 72,000 shares of Rs. 10 each.

	
	Debit 
	
	Credit 

	
	Rs.
	
	Rs.

	Cash in hand 
	900
	
	

	Cash at bank
	3,55,980
	
	

	P and L a/c balance 
	
	
	17,400

	Creditors 
	
	
	60,000

	Debentures 
	
	
	3,60,000

	Share capital (called up)
	
	
	5,52,000

	Bill payable 
	
	
	45,600

	Sales 
	
	
	4,98,000

	Reserve for bad debts
	
	
	4,200

	General reserve
	
	
	30,000

	Calls in arrear 
	9,000
	
	

	Wages 
	92,760
	
	

	Land and Building 
	3,60,000
	
	

	Plant and machinery
	4,32,000
	
	

	General expenses 
	20,280
	
	

	Salaries 
	17,400
	
	

	Interim dividend paid 
	9,000
	
	

	Furniture 
	40,000
	
	

	Purchases 
	2,29,880
	
	

	
	15,67,200
	
	15,67,200


Adjustments :

(a)
Outstanding wages Rs.  6,000 ; Salaries 
Rs. 3,000

(b)
General expenses include prepaid  insurance @ Rs. 300

(c)
Provide depreciation on land and buildings, plant and machinery and furniture at 5%, 10% and 20% respectively.

(d)
Stock on 31.03.2000 amounted to 
Rs. 1,40,000

(e)
Outstanding interest on debenture is 
Rs. 18,000

(f)
Final dividend paid is Rs. 21,000.


Prepare Trading and P and L a/c and P and L appropriation a/c.

£õÝ ¼ªöhm  ¹. 10 •Ê©v¨¦ÒÍ  72,000 A[RP›UP¨£mh £[SPøÍU öPõshx. 2000 ©õºa 31&À {Ö©zvß C¸¨£õ´Ä C[S öPõkUP¨£mkÒÍx:

	
	£ØÖ 
	
	ÁµÄ 

	
	(¹.)
	
	(¹.)

	øP öµõUP® 
	900
	
	

	Á[Q C¸¨¦
	3,55,980
	
	

	C»õ£ |mh PnUS
	
	
	17,400

	PhÜ¢÷uõº
	
	
	60,000

	PhÜ¢÷uõº £zvµ[PÒ
	
	
	3,60,000

	£[S •uÀ (AøÇUP¨£mhx)
	
	
	5,52,000

	ö\¾zxuØS›¯ ©õØÖa^mk
	
	
	45,600

	ÂØ£øÚ
	
	
	4,98,000

	ÁµõUPhß JxURk
	
	
	4,200

	ö£õxU Põ¨¦ 
	
	
	30,000

	{¾øÁ°À EÒÍ AøÇ¨¦ 
	9,000
	
	

	T¼
	92,760
	
	

	{»® ©ØÖ® Pmih®
	3,60,000
	
	

	ö£õÔ²® C¯¢vµ öuõS¨¦®
	4,32,000
	
	

	ö£õx ö\»ÄPÒ
	20,280
	
	

	Fv¯® 
	17,400
	
	

	CøhUPõ» £[Põuõ¯® ÁÇ[Q¯x
	9,000
	
	

	AøÓUP»ß 
	40,000
	
	

	öPõÒ•uÀ
	2,29,880
	
	

	
	15,67,200
	
	15,67,200


\›UPmhÀPÒ :

(A)
T¼ öPõkUP ÷Ási¯x ¹. 6,000, \®£Í® 
¹. 3,000

(B)
ö£õxa ö\»ÂÀ •ßTmi ö\¾zv¯ Põ¨¥mkz  öuõøP ¹. 300 EÒÍhUQ¯x.

(C)
{»® ©ØÖ® Pmih®, G¢vµz öuõS¨¦, AøÓUP»ßPÐUS •øÓ÷¯ 5%, 10% ©ØÖ® 20% ÷u´©õÚ® AÎUPÄ®.

(D)
31.03.2000–À \µUQ¸¨¦ ¹. 1,40,000

(E)
Phß£zvµzvß «uõÚ Ámi öPõkUP ÷Ási¯x  ¹. 18,000

(F)
CÖv¨ £[Põuõ¯® ÁÇ[Q¯x ¹. 21,000


Â¯õ£õµ ©ØÖ® C»õ£ |mh PnUS ©ØÖ® C»õ£ |mh £[Rk  PnUSPøÍ u¯õ›UPÄ®.

10. The following is the balance sheet of Nav Bharath Ltd. Company on 31.12.1990

	Liabilities 
	Rs.
	Assets
	Rs.

	7,500 pref. shares of 
	
	Patents 
	8,50,000

	  Rs. 100 each
	7,50,000
	Leasehold premises 
	1,30,800

	5,000 equity shares of
	
	Machinery 
	42,200

	 Rs. 100 each fully paid
	5,00,000
	Debtors 
	76,500

	Sundry creditors 
	30,000
	Stock in trade
	55,000

	Bank Overdraft
	20,000
	Discount on issue of 
	

	
	
	  shares
	18,000

	
	
	Preliminary expenses 
	12,000

	
	
	P and L a/c 
	1,15,000

	
	
	Cash in hand 
	500

	
	13,00,000
	
	13,00,000


The company suffered heavy losses. The following scheme of reconstruction was adopted. 

(a)
The preference shares be reduced to an equal number of fully paid shares of Rs. 50 each.

(b)
The equity shares be reduced to an equal number of shares Rs. 25 each. The amount available be used to write off Rs. 30,800 on leasehold premises, 
Rs. 15,000 on stock, 20% off on machinery and sundry  debtors and the balance available (after writing off discount on issue of shares, preliminary expenses and 
P and L a/c completely) off patents. Prepare the balance sheet after the reconstruction has been carried out.

|Æ £õµz P®ö£Û ¼ªöhm–ß 31.12.1990 ÷uv C¸¨¦ {ø»U SÔ¨¦ Á¸©õÖ :

	ö£õÖ¨¦PÒ 
	¹.
	ö\õzxUPÒ 
	¹.

	7,500 •ßÝ›ø©¨ £[SPÒ 
	
	¦øÚ¨ ö£õ¸Î¸ø©PÒ  
	8,50,000

	u»õ ¹. 100 ö\¾zu¨£mhx
	7,50,000
	SzuøPU Pmih[PÒ
	1,30,800

	5,000 \õuõµn £[SPÒ u»õ 
	
	C¯¢vµ® 
	42,200

	¹. 100 ö\¾zu¨£mhx
	5,00,000
	PhÚõÎPÒ 
	76,500

	
	
	\µUQ¸¨¦ 
	55,000

	£ÀÁøP PhÜ¢÷uõº
	30,000
	£[S öÁÎ±miÀ Ámh®
	18,000

	Á[Q ÷©ÀÁøµ¨ £ØÖ 
	20,000
	öuõhUPa ö\»Ä
	12,000

	
	
	C»õ£ |mhU PnUS
	1,15,000

	
	
	öµõUP®
	500

	
	13,00,000
	
	13,00,000


{Ö©® ö£¸® |mhzxUSÒÍõÚx. GÚ÷Á ¤ßÁ¸®©õÖ Aø©¨¦z vmh® ¤ß£ØÓ¨£mhx. 

(A)
•ßÝ›ø©¨ £[SPÒ A÷u GsoUøP²ÒÍ u»õ ¹. 50 •ÊÁx® ö\¾zu¨£mhuõPU SøÓUP¨£h÷Ásk®.

(B)
\õuõµn¨ £[SPÒ A÷u GsoUøP²øh¯ u»õ ¹. 25 £[SPÍõPU SøÓUP¨£h÷Ásk®. QøhUP¨ ö£ØÓ öuõøPø¯ SzuøP Pmih ©v¨¤À ¹. 30,800 PÈzöuÊuÄ®. \µUQ¸¨¤À ¹. 15,000–•®, C¯¢vµzv¾®  PhÚõÎPÎ¾® 20% SøÓUPÄ®. «vø¯ (£[S) öÁÎ±mk Ámh®, öuõhUPa ö\»ÄPÒ C»õ£ |mhU PnUS BQ¯ÁØøÓ •ÊÁx©õP PÈzöuÊv¯  ¤ß) ¦øÚ¨ ö£õ¸Î¸ø©ø¯ PÈzöuÊu ÷Ásk®. 
EÒ ©ÖÁø©¨¦ ö\´u ¤ß, C¸¨¦ {ø»U SÔ¨¦ u¯õ›UPÄ®.

11. The revenue a/c of Bajaj life Insurance Company showed a balance of Rs. 4,75,000 at the end of the year 2000 before taking the following adjustments :

(a)
Bonus utilised in reduction of premium 
Rs. 45,000

(b)
Outstanding premium Rs. 1,00,000

(c)
Interest accrued on investment less income tax Rs. 25,000

(d)
Claims intimated but not yet admitted 
Rs. 30,000

(e)
Claims covered under reinsurance Rs. 5,000


Find the true balance.

£áõä B²Ò Põ¨¥k {Ö©® uÚx Á¸Áõ´ PnUQß C¸¨¦z öuõøPø¯ 2000&®  Bsk CÖv°À ¹. 4,75,000 GÚU PnUQmhx. RÌPõq® \›UPmkuÀPÐUS  •ß£õP 

(A)
•øÚ©z öuõøP ‰»® AÎUP¨£mh ªøP Fv¯® ¹. 45,000

(B)
•øÚ© {¾øÁz öuõøP ¹. 1,00,000

(C)
Á¸©õÚ Á› }UQ •u½miß «x Ámi ÷\µ ÷Ási¯x ¹. 25,000

(D)
÷Põ¸›ø© öu›ÂUP¨£mhx. CßÝ® öPõkUP¨£hÂÀø» ¹. 30,000

(E)
©Ö Põ¨¥mk ÷Põ›¸ø© ¹. 5,000


Esø©¯õÚ CÖv C¸¨ø£U PõsP.

12. The assets of X Ltd. are purchased by Y Ltd. The purchase consideration was as follows :

(a)
A cash payment of Rs. 90 for every share of 
X Ltd.

(b)
A cash payment of Rs. 550 for every debenture in X Ltd. in full discharge.

(c)
An exchange of four shares of Y Ltd. of
 Rs. 75 each (quoted in the market at 140 each) for every share of X Ltd.

(d)
The expenses of liquidation amounting to 
Rs. 10,000 were met by Y Ltd.


Additional information of X Ltd. on the date of absorption :


Share capital of 6,000 equity shares of 
Rs. 500 each – Rs. 3,00,000


1,300 debentures of Rs. 550 each – 
Rs. 6,50,000


Sundry creditors – Rs. 2,50,000


Workmen’s savings bank – 2,00,000


Calculate purchase consideration (cash as well as shares)

X Ltd.–ß ö\õzxUPøÍ Y Ltd.  Áõ[Q¯x. öPõÒ•uÀ ©Ö£¯ß RÌPõq®©õÖ C¸¢ux.

(A)
X Ltd.–À C¸US® JÆöÁõ¸ £[SUS® ¹. 90 öµõUP©õP ö\¾zu ÷Ási¯x.

(B)
X Ltd.–À C¸US® JÆöÁõ¸ PhÜmk¨ £zvµ[PÐ® ¹. 550 •ÊÁx® ö\¾zu¨£mhuõP öµõUP©õP ö\¾zu ÷Ási¯x.

(C)
X Ltd.–À C¸US® JÆöÁõ¸ £[SUS® ¹. 75 ©v¨¦ÒÍ Y Ltd.–ß 4 £[SPÍõP ©õØÔ öPõÒÁx (\¢øu Âø» ¹. 140)

(D)
Pø»¨£uØPõÚ ö\»ÂÚ öuõøP 
¹. 10,000–zøu Y Ltd. HØÖU öPõÒÁx. 


X Ltd.–ß TkuÀ uPÁÀPÒ (EmQµQzu ÷uv°À) :


£[S •uÀ 6000 ÷|ºø© £[SPÒ ¹. 500 Ãu® – ¹. 3,00,000


1,300 PhÜmk¨ £zvµ[PÒ ¹. 550 Ãu® – 
¹. 6,50,000


£Ø£» PhÜ¢÷uõºPÒ – ¹. 2,50,000


÷Áø»¯õÎPÎß  ÷\ª¨¦ Á[Q – ¹. 2,00,000


öPõÒ•uÀ ©Ö£¯ß GÆÁÍÄ Gß£øu Psk¤i (öµõUP©õPÄ®, £[SPÍõPÄ®)

————————
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